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Name Date

A0l Practice A
34 For use with the lesson “Find Slope and Rate of Change”

Tell whether the slope of the line is positive, negative, zero, or undefined.
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Plot the points and draw a line through them. Without calculating, tell
whether the slope of the line is positive, negative, zero, or undefined.
7. (1,0)and (5, 3) 8. (—3,—2)and (5, —2) 9. (—4,2)and (3, —5)
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10. (2,2)and (—3, —6) 1. (—1,1)and (—1,5) 12. (6,7)and (7, 6)
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Find the slope of the line that passes through the points.
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Find the slope of the line that passes through the points.

19. (0,4)and (3,7)
22. (4, —8)and (—3,6)
25. (—3,7)and (1, —1)

20. (2,5)and (3,0)
23. (4,1)and (3,7)
26. (4,5)and (—6,5)
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21.

Date

(—3,4) (0, 4)

(2,1)

(0, —3)

[ ]

(1,2)and (2, 5)
24. (4,8)and (6, 10)
27. (3,—2)and (3,4)

Find the value of y so that the line passing through the two points has the

given slope.

28. (0,)), (2. T;m=1

29. (5,4), (2,y);m= —

3

30. (4,2),G,y);m=4

31. Plant and Flower Sales The table shows the amount of money (in dollars) spent by
a household on plants and flowers for certain years. Describe the rates of change in
the number of dollars spent during the time period.

Year 2001 | 2002 | 2003 [ 2004 | 2005
Amount spent (dollars) | 127 | 134 | 139 | 137 | 136
32. Broadway Shows The graph shows the number of new 40 1] (1999, 39
Broadway show productions for certain years. . 22 (1996, 38)
a. Describe the rates of change in the number of shows 5 é 37 /
with respect to time. 53 36 / v\\7l\ (Toog 77)
b. Determine the time interval during which the number ES 35 / \|[ 111997.37) -
of new shows showed the greatest rate of change. Zz 2:
c
c. Determine the time interval during which the number 3211995, 33) (1998, 33)
of new shows showed the least rate of change. 0
0 1996 1998 2000 2002
Year

Algebra 1
3-48 Chapter Resource Book

Copyright © Houghton Mifflin Harcourt Publishing Company. All rights reserved.





